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November 14, 2013

Nov 7­1:42 PM

Starter
Solve each of the following equations

1) 8x = 4x + 2(x + 6)

2) 2x + 6 = 2x + 6

3) 2x ­ x ­2 = x +2

4) 2x + 1 = 4x ­ 9

Solve the following, write your answer in scientific notation

5) (9 x 107) ­ (2 x 105)

A
ns
w
er
s

1) x = 6
2) infinite solutions
3) no solutions
4) x = 5
5) 8.98 x 107

Sep 17­9:03 AM

5 points: 20 problems
4 points: 15­19 problems
3 points: 11­14 problems
2 points: 5­10 problems
1 point: 2­4 problems
0 points: 0­1 problems

Completion Points
Accuracy Points

Score = Completion + Accuracy 
Literal Equations WKS 1

1. L = A/W (0)
2. R = E/I  (I)
3. r = I/pt  (U)
4. l = V//wh  (E)
5. h = S/2πr  (I)
6. T = V + F (E) 
7. h = 2A/ b  (F)
8. B = 3V/h  (A) 
9. m = E/c2 (T)
10. a = 2S/t2  (B)

11. r2 = A/π  (U)
12. v2 = 2E/m (Y)
13. B = (S­F)/2  (S)
14. t = (A­P)/pr  (T)
15. w = (p­2l)/ 2  (Y)
16. h = 3V / πr2 (W)
17. d = 2T / rhg  (L)
18. m = (y­x) / b  (B)
19. C=5/9(F­32) (R)
20. r3= 3V/4π (D)

Buy a dew it yourself kit
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Sep 28­2:09 PM

note it is always easier to work with a positive coefficient so think about that as you solve

-4k       -4k

3k - 2 = 16
    +2     +2

3k = 18
÷3  ÷3

k=6

Math 8 Unit 3
Day 17: Literal Equations

Objectives: 

I can solve literal equations for a named variable. 

Nov 7­6:52 PM

y = 2x + 10  (x) 
subtraction prop (=)

division prop (=)

Reason

Reason

­9x ­ yb = t
Addition prop (=)

division prop (=)

Reason

Reason

1 x + y = 2
2

(x)

(b)

x(y + 3) = z   (y)
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Nov 12­1:49 PM

x + 3y = 10  (y) 

3 + x = 9  (x) 
   z

t + 9s = v (s) 

g(3h + 2) = i  (h)

Nov 8­11:55 AM

Solving Literal Equations WKS 2

cross out 14 &16
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